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Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values
for the differentiable functions k and k’. Use this information to find the following.

1. Find the average rate of change of k(x) on the interval [—4, 6].
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3. Find the instantaneous rate of can ggof k at x = 3.
K'(3)?
4. Write an equation of the line tangent to k at x = 1.
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5. Find the instantaneous rate of change of g at x = —.
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6. Find the instantaneous rate o change of matx = m. = B—
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7. Is there a time ¢, where — 4 < ¢ < 6,such that k(c) = 5? Give a reason for your answer. .
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8. Is there a time ¢, where — 4 < ¢ < —1, such that k’(c) = —4? Give a reason for your answer. V—LM Wj—l‘ﬂ?
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Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values
for the differentiable functions k and k’. Use this information to find the following.

9. Find the average rate of change of f(x) on the interval [—1, 2].
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10. Find the average rate of change of m(x) on the interval [-3, 7].
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11. Letp(x) = 2m(x) — x3. Find p’(-3). / o
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12. Find h'(x).
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;Let q(x) = m(x)k(x). Find q'(1). u ) ‘(x)
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15. Find the slope of the line tangent to the graph of mat x = —4.
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